Math 130 - Quiz 8 Name _ Key
November 11, 2020 Score

Show all work to receive full credit. Supply explanations when necessary. You must work
individually on this quiz. For each triangle described below, a is opposite a, b is opposite 3,
and c is opposite . This quiz is due November 16.

1. (4 points) A triangular plot of land is bounded on each side by a busy street. The
lengths of the sides of the plot of land: are 70.00m, 80.00 m, and 100.00 m. Determine
the angles that the streets make with one another. Give your answers in degrees,
rounded to the nearest hundredth.
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2. (1 point) Use the Law of Sines to show that there is no triangle for which a = 4 feet,
= 14 feet, and o = 60°. :
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3. (5 points) Solve the triangle. If two solutions exist, find both.
a=0>58, a=114, b=128
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